Pag. 182 183 exercises
Ex. 1
a) The Agrarian Revolution  2
b) The Industrial Revolution 3
c) The French Revolution 1
Ex.3
The cause of the industrial revolution was the great increase of population. The Industrial Revolution was connected to the Agrarian one because they both used the technological inventions. The most important inventions are connected to the textile sector (sipping jenny, water frame). These inventions had positive effects, indeed lots factories were built. These factories were built on the coal and iron fields of Lancashire, Yorkshire, central Scotland and South Wales.
Ex.4
1) Technologies
2) Inventions
3) Sources of power
4) Steam engine
5) Manufacture
6) Water ways
7) Enclosure
8) Improvements
Ex.5
1) During the Industrial Revolution there was the invention of the “spinning jenny”.
2) James watt patented the stream engine.
3) In the Agrarian sector there are a lot of improvements. It  was introduced the crop rotation.
4) There was built a lot of water ways to develop transport.
5) The Industrial Revolution implied inventions and technologies.
6) During the Industrial Revolution were found new sources of power.
7) The new factories allowed Britain to manufacture cloth more cheaply that elsewhere.
8) The enclosure consists in closing the open field typical of the feudal society.
